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Directions (1-6): fraferfad wsi &1 srgurf=ra a1+ 1@ Fifome-

Q1.1011.11 +110.1 +111.01 =?
(a) 1232

(b) 1300

(c) 1130

(d) 1070

(e) 1700
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Q2.12.005% of 624.999 =?
(a) 91

(b) 58

(c) 62

(d) 75

(e) 80
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Q3.16.007 x 14.995 x 6.080 =?
(a) 1510

(b) 1440

(c) 1200

(d) 1330

(e) 1480
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Q4.7000.001 + 699.983 x 4.020 =?
(a) 58
(b) 32
(c) 60
(d) 40



(e) 50
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Q5. 23.999 x9.004 x 16.997 =?
(a) 3200

(b) 4100

(c) 2700

(d) 3670

(e) 3400
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Q6.449.97 + 15.02 + 208.08 + 8.01 - 16.01 =7
(a) 120

(b) 60

(c) 100

(d) 80

(e) 40
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Direction (7-11): SI¢T &1 YA 37eqg HIforg 3R foU MU et & IR i
faarem x # 316 FHeMt g, orifd- U ¥ 33| wem ol § $a faarffl, Hem s & $a
ferenfial &t qer § 16 29 3ifih §, Sl den urm A faeiiat w1 e wem tw A
ferenfefat ot Wem &t qo A 33 2 %hH §1 Hal U, A R g & frersr P faemdf
204 B &l O # ot faenlf wen @ § oo fafial @ g # 12 3t 71 e
X ¥ o faanlf, wem ww, Q1 dF iR uiw # e faenfdal & I &t gan § 86%
31t g1 e e § P faenelf, wen TR & oo [yt &) g & 14 it §, Safh
Hel I § $a fgandf, wen IR ¥ $a faendal @ g & 4 &9 | He&l 88 § $a
faamff, wer e ¥ o faenfial & ga & 22 &4 g

Q7. He&f &, a1, Ui iR I1a § faenfiat & T &1 Sid 1 Siforg|
(a) 64

(b) 56

(c) 84

(d) 72

(e) 96
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Q8. HE&T I 3R IR # e $o faamlf, Fen T iR 316 & e oo faanfial &t
qa | foram wfa=ra siftres g7

() 6%

(b) 4%

(©9:%

(d)32%

(©) 1%
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Q9. F&T U 3R B # raer oa faaffal &1 wer dF iRk wd & AR $a
faenfial @ srgurd J1d Bl

(@)2:5

(b)2:7

(c)2:3

(d)2:9

(e)2:11
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Q10. G faeery v’ &t deaf 318 § ot faenedl, fawmmerd ‘X ot e 9 o Ha faenffai
1 qar H37 2 %3iieb §, ot foremerd 'y @1 e 36 # oo faandf, fagma X' @t wan
3 3R IR # fireer o faenial | fbaa ufawd 9 82

(a) 12.5%

(b) 22.5%

(c) 20.5%

(d) 17.5%

(e) 15.5%
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Q11. faenera ‘X’ &t Femm e, fF, Ui SR U1d § faenfial o oa e 31d S|
(a) 256
(b) 276
(c) 284
(d) 302



(e) 316
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Direction (12-15): 1 feum a1 STe1 IwdE & Ird Al HRMHAIR ¥ WfHaR) ©R gRI 99
T T AR d & G & g1 STel &1 AFYaD AL DI R T4 & IR o |
YIR DT 9 T P AR, HIAIR B 99 7T $of AR q 33 29 3Mfh § Sfafcb
¥R gRI YMFAR &I 99 ¢ $d HERd, JUOR I 99 T Hd AG2d I 10% HH &1 ©R
ERT YHAR, WEAR, §GdR U4 UFaR &1 99 T Hiasd t 3d Tm 205 § SR
IR & ®R gRT 99 T $d JAERd, AR & 99 T Fd d6sd 9 4 E gl
€R gRI YEHAR P 99 TN $d AERd, TSR I 99 T $d AERT 4 24 3@d §
Sefe AJAR FT T2 T Hof AR, TR gRI AR $I 9 T Hd HieZd I 32 Y g
qe § R gRT 99 U §d AESd 1400 ¢ |

Q12. §YAR Pl ¥R §RI o9 T $d HIRd, HIR Td AR ol B TR gR1 a9
T pof AiaTsd ¥ fbdn Ui &4 872

(a) 35%

(b) 32%

(c) 45%

(d) 40%

(e) 48%
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Q13. YHdR T THAR &I WA ¥R gRI od U $dl AEZd BT YHAR Dl KR gRI
9 MU Hod AT Y 3IUTd Jd Hiorg?

(a) 19:11

(b)19:13

(c)19:15

(d)19:17

(e)19:9
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Q14. FTEAR, §YAR T4 YMIR P TR gRT 99 Y HEEd P 3Nd W J1d Difod?
(a) 202
(b) 208
(c) 212




(d) 224

(e) 236
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Q15. AR T WMAR P HaH R gRT od T $d TR, HIR TG TR &I
AR CR gRT 99 T $d Aegd ¥ fava- Ufa=id S g2

(a) 1%

(b) 2%

(©) 3%

(d) 4%

(e) 0%
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Solutions

S1. Ans.(a)
Sol.x=1011.11+110.1 + 111.01 = 1232.22 = 1230 (Approx.)

S2. Ans.(d)
7625 X —

100
Sol. 75

S3. Ans.(b)
7> 16 X 15X 6

T 1440
Sol.

S4. Ans.(d)
x = 7000.001 + 699.983 X 4.020

~ 70000 X — X 4
700

Sol. >~ 40 (Approx.)

S5. Ans.(d)
x = 23.999 x 9.004 X 16.997
=24 X9 X 17
= 3672

= 3670 (Approx.)
Sol.

S6. Ans.(e)



Sol.
?7=44997 +15.2 + 208.08 + 8.01 - 16.01 450 + 15+ 208 -+ 8 - 16
=30+26-16=30+10=40

S(7-11):
Let total students in class one = 100x
. 50x 350x
So, total students in class two = 100x + =5 =
Total students in class five = 100x — % = %
Given, 100x + 35% + 222 = 204
850x = 612
x=0.72
Total students in class one =100 X 0.72 = 72
. 350%x0.72

Total students in class two = .

=84
Total students in class five = 200x0.72

=48

Total students in class three =84 + 12 =96

Total students in school ‘X’ = (72 + 84 + 48 + 96) X %
=300 x 2%
100
=558

Total students in class four, six, seven & eight = 558 - 300 = 258
Let total students in class four =y

So total students in class eight =y + 14

Total students in class seven =y — 4

Total students in class six=y + 14 — 22 =y — 8
ATQ -

y+y+14+y-4+y—8=258

4y + 2 =258

4y =256

y =64

Total students in class four = 64

Total students in class eight = 64 + 14 =78
Total students in class seven = 64 —4 = 60
Total students in class six =64 - 8 = 56

Classes Students
One 72
Two 84

Three 96




Four 64

Five 48

Six 56

Seven 60

Eight 78
S7. Ans(d)

Sol.

Total students in class two, three, five and seven
=84 +96 +48 + 60

=288

Required average = ? =72

S8. Ans(a)

Sol.

Total students in class three & four =96 + 64 = 160
Total students in class one & eight =72 + 78 =150

Required percentage = 162;;50 x 100
=22 %100
150
=6 §%
S9. Ans(c)
Sol.

Total students in class five & six =48 + 56 = 104
Total students in class three & seven =96+ 6 0 = 156

. . 104
Required ratio = —
156

=2:3

S10. Ans(d)
Sol.
Total students in class eight of school ‘Y = 96 X % = 132
Required percentage = 162;;32 x 100

=22 %100

160

=17.5%
S11. Ans(b)
Sol.

Total number of students in class one, three, five & seven of school ‘X’



=72+96 +48 + 60

=276
S(12-15):
Let total number of mobile sold by store on Tuesday = 100x
Total mobile sold by store on Wednesday = 100x X g = %
Total number of mobile sold by store on Saturday = % X % = 120x
Total mobile sold by store on Monday = 100x + 4
Given,
400x

100x + ST 120x + 100x + 4 = 205 X 4
960x-|3—)400x - 816
1360x = 2448

_2148

" 1360
x=1.8

Total number of mobile sold by store on Tuesday = 1.8 X 100 = 180
Total mobile sold by store on Monday = 1.8 X 100 + 4 = 184

Total mobile sold by store on Wednesday = 20018 240

Total number of mobile sold by store on Saturday = 1.8 X 120 = 216
Let total mobile sold by store on Thursday =y
So, total mobile sold by store on Friday =y + 24
Total mobile sold by store on Sunday =y —32
Total mobile sold by store on Thursday, Friday & Sunday = 1400 - 820 = 580
Also,y+y+ 24 +y- 32 =580
3y =588
y =196
Total mobile sold by store on Friday = 196 + 24 = 220
Total mobile sold on Sunday =196 - 32 = 164

Days Sold mobiles
Sunday 164
Monday 184
Tuesday 180
Wednesday 240
Thursday 196
Friday 220




Saturday 216

S12. Ans(d)
Sol.
Total mobile sold on Monday & Saturday together = 184 + 216 = 400
. 400-240
Required percentage = x 100
160
=255 X 100 = 40%
S13.Ans(a)
Sol.

Total mobile sold by store on Monday & Thursday together= 184 + 196 = 380
Required ratio = 399

220
=19:11

S14. Ans(c)

Sol.

Total mobiles sold by store on Tuesday, Wednesday & Saturday = 180 + 240 + 216 =636

Required average = % = 212

S15. Ans(e)

Sol.

Total mobile sold by store on Sunday & Saturday together= 164 +216 = 380
Total mobile sold by store on Monday & Thursday together= 184+ 196 = 380
Difference = 0

Required percentage = 0%



